1.

545 ofH 42 Wrel 3 gt throfdol 7] she 4 25

AAU7E?

> E:

> =eh sA

™
=~

519) 48

Ayt

5t 1, 2, 3, 6, 9, 18, 27, 540]|P 2 H%F 8







36 9] O FolA 29] Hl57} HE 4 BE F AU

> & il

36 2] °F 1 1, 2, 3, 4, 6, 9, 12, 18, 36
7 Fo4 2 2] W47} Fl S 2, 4,6, 12, 18, 36 JU T
wakA 67 Ao,




2

19k $ES G457t dolurslt ol
7

LI

El go
fr e

o2l of,
e

Mo L

0%

N

N

ol

el

%o, flo

L7 Soll A 7o) AU
g4
oA 210] QU7
Yk,
oA 300] AU
Ut
3 4ol 357} U7
Yet.
2ol 427} QU7
Yk,
L7 el A 470] QU7
tobgut

VL AR G A0 2 ok 8 T2l AT Aole] W
ol 1 e AS ol A

I of M of M of M o2 ™ of X of
of I~ o2 > of > of ¥ of > of >
N ;?; o

G54 AT ol 630] YEUA?

@ agEY 632 79 9ufe| 2

Jg5YH 632 F A ol B
Utk 633479 2A7F 10 HH A2 %

obdyth. 63 72 WrojEojA A donz
Y. 6
A=h=]

Ot

F A 50 gho] 22 Lireldol 7|4

r{o
hip

Aot AZEst 5 72 YrolEolx]= 4 Yt
=714, 21, 28, 35, 42, 49, 56, 63 ST},

@ oll4 63 ©]  Ake] Sehe ol f ujRo] Seki gheh, 30 7
47 & G0l A7 47 Hlofof gt
® o4 63 3} 47 ] A7} 10 e} ke o2 63 0] Aol7h
7Y% 7} ohjeka S, 7} 10 Kk 2 7 721 = A
o7t B2tet 47} B 4 Qv
@ o] AGol7t AT 452 BE 7 2 HrojdojAE 4
o3 63 & 7 2 LhirolHol A B2 Aol Aztet 47} B
% gt ohth.ekn om e e g
© 1421 £ 2 A2 £l gol 2.2 brelgAAA Yok
Hegol7} 7ket S0 B2 63 o ZF Aele] 5] gol 2
LProj@oj 7] SRethe o 4.2 63 o] Aol t A2 Tﬂ
ohUth eka & 4 iyt




5. 150HT} 31 180 Kot AL 4= Zo| A 139 H|4E B 5 XA Q.

\4
o7

it

156

vV V V¥
02
L

0
I

169

B

13 x 11 = 143, 13 x 12 = 156, 13 x 13 = 169, 13 x 14 = 182,

whaeba] 150 Hoh 337 180 Er} ZHS 4= Zof A
13 9] v 156, 169 QY Tt




ool vjso] T 47 F BY AL HOAQ.

¥

D 18 RE AR oF5 et

@ 150 & 2E AAE Hojk 2719] oF5 7Hg YT

® A4t 20] Hig U

@)olw 5-0] A Aelo] 524 K1 39] W4T Fop W 5
ol

® ol 50| Ao| A2o] 2L BT EHE o} F 4

AsYt.

39 vl 7 A2 9 £9] o] 39| Hij4ql ol BR o] 2}
2lo] Apghe B o 4 Q&Y




7. 2,3, 5, 7€ o7k 1 3 A7) A4 el gl S Ytk 10 914 20
7H219) 2% Foll A o]oh 2 4 @ AYUA?

> E: 7

> " 4

10 € 20 7HA] 9] A4 F 27 1 1 Z47] A4 Hrofl gl
2111, 13, 17, 19 2 4744 th




5 A2 4 FolA oo ATt E49 Sk BE B AU

=i 7h

OF40] Zi4= 1 2 Allstar 4 2 7f o), k2] A7t
E47t HEH 22 F € J3¢ Yy

q& 50l 9 £ 44711, 3,9 2 3x3 =9 7t o] %59
N47t &7 Byt

oA T 2] 7t EE 2 T 40 F2
4x4=16,5x5=256%6 =36,

TXT7 =49, 8x8 =64, 9x9 = 81 & °F 0] 7|57t 471
=yt




